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Ideals for irreducible component#ﬂ)f Xpar

I = (B +u*? 4+ du+ 1)

* 1 irreducible components of dim¢ = 0, with total 43 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(@uw®4+u*?+..-+4u+1)

(i) Arc colorings

= (3)

ag —
az =
a)p =

as = (
B
ar = (ud + u)
—ud +ub —ut+1
—ud + 2u8 — 2u* 4 202
—u® 4+ 2u” — 3ud +2ud —u
—uM 4+ —2u" b — w4 u
—ul® 4+ 301 — 712 4 10010 — 1108 + 8ub —4ut + 1
—u'® 4+ 2018 — 51t 4 6ul? — Tul0 + 6ud — 4uS + 2ut — 2
—u? 4+ 4u? 4 - 20
—u +3uP+ . —3uS +u
—u3 +5u® - 2u? + 1
—u3? 4+ 4030 + - 4 dut — 202

—udT + 603 + - +4ud —3u
a0 = \ —u +5u37 - 4 2ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u*? + 28u%0 + ... — 48u — 18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq uB 4+ 13u =2+ 1
C2,Cs uB Fut 4 du
c3 u®® —u*? ..+ 18220 + 673
C4,C10 U43+U42+"'+2u+1
€7, €8, Cy BT oy —1
C11,C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Ce Y1 35y - — 58y — 1
2, Cp y? =13y -2y -1
3 y* + 23y + ... — 3215146y — 452929
€4, C10 yP Ty 2y -1
C7,C8,C9 y* 59y 4 422y — 1
C11,C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

uw=0.981082 + 0.1968331

0.87304 — 5.102431

—8.09536 + 7.653341

uw= 0.981082 — 0.1968331

0.87304 + 5.102431

—8.09536 — 7.653341

u = —0.756864 + 0.7033211

1.54506 — 1.290521

—6.15207 + 4.411351

u = —0.756864 — 0.7033211

1.54506 + 1.290521

—6.15207 — 4.411351

u = —0.929614 + 0.2434711 1.314580 + 0.2246101 —6.30893 — 0.945651

u = —0.929614 — 0.2434711 1.314580 — 0.2246101 —6.30893 + 0.945651

u=0.944630 + 0.0648207 —3.51261 — 1.973451 —16.2504 4 5.90151

u= 0.944630 — 0.0648207 —3.51261 + 1.973451 —16.2504 — 5.90151

u = —1.043590 + 0.2718511

10.99790 — 0.103091

—5.84751 — 1.128751

u = —1.043590 — 0.2718511

10.99790 + 0.103091

—5.84751 + 1.128751

u= 1.047870 4 0.2624261

10.93510 — 6.662171

—6.01718 + 5.667401

u= 1.047870 — 0.2624261

10.93510 + 6.662171

—6.01718 — 5.667401

u = —0.881434 + 0.6484271

0.47533 + 2.513941

—12.27687 — 2.563341

u = —0.881434 — 0.6484271

—0.47533 — 2.513941

—12.27687 4 2.563341

u = —0.740624 + 0.8066391

7.37925 — 4.230771

—1.23707 + 3.774501

u = —0.740624 — 0.8066391

7.37925 + 4.230771

—1.23707 — 3.774501

u=0.829061 + 0.7305021

3.10908 — 1.970131

—0.14053 + 3.028791

u=0.829061 — 0.7305021

3.10908 4 1.970131

—0.14053 — 3.028791

u= 0.768437 + 0.8078901

7.89054 — 1.194571

0.07490 + 2.405881

u= 0.768437 — 0.8078901

7.89054 + 1.194571

0.07490 — 2.405881

u = —0.743419 + 0.8606901

18.3406 — 5.94531

—0.14706 + 2.395011

u = —0.743419 — 0.8606901

18.3406 + 5.94531

—0.14706 — 2.395011

u=0.748999 + 0.8605701

18.4432 — 0.91307

0.+ 2.086741

u=0.748999 — 0.8605701

18.4432 +0.91301

0. —2.086741

uw=0.908733 + 0.7203441

2.86472 — 3.564651

—0.69891 + 3.151541

u= 0.908733 — 0.7203441

2.86472 + 3.564651

—0.69891 — 3.151541

u = —0.949064 + 0.6958271

0.96736 + 6.680621

—8.00000 — 9.763701

u = —0.949064 — 0.6958271

0.96736 — 6.680621

—8.00000 + 9.763701

u = —0.820533

—1.33344

—6.72830

u= 0.970139 + 0.7513831

7.27360 — 4.662021

—1.06940 + 2.915221




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

0.970139 — 0.7513831

7.27360 + 4.662021

—1.06940 — 2.915221

—0.984689 + 0.7400341

6.63575 4 10.044901

—2.84536 — 8.989651

—0.984689 — 0.7400341

6.63575 — 10.044901

—2.84536 + 8.989651

1.004250 + 0.7700861

17.6531 — 5.15641

—1.23638 + 2.774281

1.004250 — 0.770086.1

17.6531 + 5.15641

—1.23638 — 2.774281

—1.007150 + 0.7674151

17.5245 + 12.00591

—1.48619 — 7.250271

—1.007150 — 0.7674151

17.5245 — 12.00591

—1.48619 + 7.250271

—0.006311 4 0.7192921

14.3770 + 3.40481

0.02476 — 2.2919171

—0.006311 — 0.7192921

14.3770 — 3.40481

0.02476 + 2.291911

—0.040172 4- 0.5920951

4.05883 + 2.558651

—0.12462 — 3.695701

—0.040172 — 0.5920951

4.05883 — 2.558651

—0.12462 + 3.695701

= —0.210006 + 0.307936.1

—0.306844 4 0.9379291

—5.73290 — 7.192921

ie|g|e|e|g|g|g|e|g|g|ge|=

—0.210006 — 0.307936.1

—0.306844 — 0.9379291

—5.73290 + 7.192921




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Ce u®® +13u* + - —2u+ 1
€2, Cs5 u® Fut? 4+ du
€3 ut® —u'? -+ 1822u + 673
C4,C10 u43—|—u42+~--—|—2u—|—1
C7,Cg,C9 u43_’_7u42+._._2u_1
€11, €12




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, o y* 4+ 35y" 4. — 58y — 1
C2,Cs y43713y42+"~*2y*1
c3 y*® + 23y*% + ... — 3215146y — 452929
€4, C10 y P+ Ty -2y -1
C7,C8,C9 y* 59y 4 422y — 1
€11, €12




